
Minusrechnen (bis 20 000)

Aufgabe 1

1. 17 625 - 12 398 =   

2. 12 493 - 12 321 =   

3. 16 585 - 4 478 =   

4. 14 951 - 11 490 =   

5. 18 777 - 17 489 =   

6. 11 213 - 6 195 =   

7. 15 759 - 13 200 =   

8. 7 870 - 6 109 =   

9. 15 614 - 11 528 =   

10. 9 415 - 2 815 =   

Aufgabe 2

1. 7 182 - 3 540 =   

2. 12 488 - 7 988 =   

3. 12 883 - 5 800 =   

4. 8 689 - 1 973 =   

5. 17 784 - 3 263 =   

6. 17 701 - 4 645 =   

7. 14 227 - 6 708 =   

8. 19 336 - 5 747 =   

9. 16 749 - 13 595 =   

10. 15 930 - 4 541 =   

Aufgabe 3

1. 9 076 - 5 078 =   

2. 16 496 - 14 895 =   

3. 15 425 - 6 123 =   

4. 11 828 - 8 454 =   

5. 7 872 - 1 534 =   

6. 13 897 - 4 415 =   

7. 13 617 - 4 370 =   

8. 13 773 - 3 264 =   

9. 3 444 - 1 252 =   

10. 17 486 - 3 542 =   

Aufgabe 4

1. 6 899 - 4 576 =   

2. 13 885 - 7 179 =   

3. 14 311 - 6 471 =   

4. 7 510 - 7 400 =   

5. 18 495 - 12 954 =   

6. 7 888 - 1 413 =   

7. 13 637 - 6 614 =   

8. 3 992 - 2 988 =   

9. 2 121 - 1 839 =   

10. 18 315 - 18 170 =   
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Minusrechnen (bis 20 000)
| ANTWORTEN

Aufgabe 1

1. 17 625 - 12 398 =  5 227

2. 12 493 - 12 321 =  172

3. 16 585 - 4 478 =  12 107

4. 14 951 - 11 490 =  3 461

5. 18 777 - 17 489 =  1 288

6. 11 213 - 6 195 =  5 018

7. 15 759 - 13 200 =  2 559

8. 7 870 - 6 109 =  1 761

9. 15 614 - 11 528 =  4 086

10. 9 415 - 2 815 =  6 600

Aufgabe 2

1. 7 182 - 3 540 =  3 642

2. 12 488 - 7 988 =  4 500

3. 12 883 - 5 800 =  7 083

4. 8 689 - 1 973 =  6 716

5. 17 784 - 3 263 =  14 521

6. 17 701 - 4 645 =  13 056

7. 14 227 - 6 708 =  7 519

8. 19 336 - 5 747 =  13 589

9. 16 749 - 13 595 =  3 154

10. 15 930 - 4 541 =  11 389

Aufgabe 3

1. 9 076 - 5 078 =  3 998

2. 16 496 - 14 895 =  1 601

3. 15 425 - 6 123 =  9 302

4. 11 828 - 8 454 =  3 374

5. 7 872 - 1 534 =  6 338

6. 13 897 - 4 415 =  9 482

7. 13 617 - 4 370 =  9 247

8. 13 773 - 3 264 =  10 509

9. 3 444 - 1 252 =  2 192

10. 17 486 - 3 542 =  13 944

Aufgabe 4

1. 6 899 - 4 576 =  2 323

2. 13 885 - 7 179 =  6 706

3. 14 311 - 6 471 =  7 840

4. 7 510 - 7 400 =  110

5. 18 495 - 12 954 =  5 541

6. 7 888 - 1 413 =  6 475

7. 13 637 - 6 614 =  7 023

8. 3 992 - 2 988 =  1 004

9. 2 121 - 1 839 =  282

10. 18 315 - 18 170 =  145
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